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PART - A

'GENERAL ABILITY AND INTELLIGENCE

A person travels from his house to his office in | 4.

30 minutes but he takes 45 minutes to travel
from his office to house via the same route.
What is the ratio of the averagé velocity |
while going and the average velocity while
returning ? ' :

a 1

b) 2/3

(e) 2

@ 32 | - 5.

Suppose m = HCF of x and y and n = LCM of
x and y. Consider the following :

1. m?n < x2y

2. mn? < x2y

Which of the following is/are correct ?
(a) 1lonly

(b} . 2only

(¢) Both1land?2

(d)  Neither 1 nor 2

A right circular cylinder of height 10 em and
_ circular base of radius 5 cm is filled to half of
its capacity by water. The cylinder is tilted so
that no water goes out of the cylinder. The
angle from the vertical by which the cylinder
is tilted is

(a) not more than 30°.

(b) not‘more than 45°.

(¢)  more than 45°, but not more than 60°,

(d) not less than 60°.

(3-A)

The average weight of a class is 20 kg. If the
strength of the class is increased by 25%, then
the average weight of the class gets increased
by 1%. What. is the average weight of the »
additional students ?

(a) = 20-50 kg

(b) 2100 kg

© 2150kg | -
@ 22:00kg

Suppose x is the smallest integer greater than

-3 such that when it is divided by 6 or 8, the

remainder is 3. y is the smallest integer
greater than 2 such that when it is divided by
6 or 8, the remainder is 2. What is x — y?

(a)
(b)
(¢)
d)

W N

Last year the age of R was three times that of
V. At present, the age of R is double that of V.
Howoldis R ?

(a) 8years

(b) 6 years
(¢) 5 years

(d) 4years

A circle is divided into four sectors such that
the proportions of their areas are 1:2: 3 : 4.

‘What is the angle of the largest sector ?

(@)  120°
(b) 125°
() 136°

(d) 144°
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12.
5 mm is stretched such that its cross-section ’
remains circular. If after stretching the rod
its length becomes four times the original
length, then what is the radius of the new
cross-section ? |
(a) 1-5mm
(b) 2:0mm
(¢ 2-5mm
(d 3:0mm
13.
Container I contains a mixture of 2 liters of oil
and 3 liters of water. Container II contains a
mixture of 6 liters of oil and 7 liters of water.
'50% of the mixture of container I and 25% of
the mixture of container II are transferred to
container III. What is the proportion of oil and
water in container IIT ?
(a) 4:5
(b) 5:4
() - 13:10 14.
(d 10:13
10. Two teams named A and B do business
together and their shares are in the ratio of
2 : 1. Team A has got three members A1, A2
and A3 whose shares are in the ratio of
1:2: 3. Team B has got four members B1, B2,
B3 and B4 whose shares arev in the ratio of
1:2:3: 4. If the actual share of B3 is
T 2,25,000, then what is the actual share of
A27? '
~(a) ¥ 5,00,000
(b) ~ T 4,00,000
(¢) ¥ 2,00,000 ’15.
(d) ¥ 1,00,000
11. The first ten letters of the English Alphabet
are used in place of the integers 0, 1, 2, ..., 9
respectively. Then what is the value of
BAG - ADD + FIG ?
(a) GFI
(b) GAD
(0 GJF
(d GFJ
DFRT-A-JSN

A rod with circular cross-section of radius

(5-A)

There are four large urns numbered 1 to 4.
The number of different ways all the three
balls. numbered 1 to 8 can be kept inside the.
four urns is

(@ 7

(b) 12
(© 27
(d 64

Consider the following number :
3% x 5% x 61% x 10°% x 152 x 1215 x 257

What is the number of consecutive zeros at thed
end of the number given above ?

(a) 50
(b) 46
(¢ 37
@ 35

R walks a long distance every Sunday. He
walks 2 km towards the north from his house
and then turns right; he walks another 2 km
and again turns right; next he walks 5 km and

turns left; he further walks 2 km and stops.

He rests for some time and returns home
following a straight route without any turning
point. What is the distance R walks after he
has rested ? :

(a 11km -
(b) 7km
(¢ 6km
(d 5km

A diameter PQ is drawn to a circle whose
diameter length is 1 m. A square is drawn
using the diameter PQ as one. of its sides.
Assuming that © is 22/7, what is the area of-
the part of the square lying outside the circle ?

(a) 3/28sq.m
() 11/285q.m
(¢ 15/28 sq. m
(d 17/28sq.m-
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16. The kingdom Plantae as laid down by (21. Tyndall effect appears due to which one of the

R. Whittaker comprises which of the following following properties of light ?
group of plants ? : (a)  Reflection of light
(a) Bryophyta, Pteridophyta, Protista, (b)  Diffraction of light

Gymnosperms and Angiosperms
~(b) Thallophyta, Pteridophyta,  Fungi, . .
_ Gymnosperms and Angiosperms (@  Scattering of light
(¢) Thallophyta, Bryophyta, Monera,
Pteridophyta and Gymnosperms
(d) Thallophyta, Bryophyta, Pteridophyta,
Gymnosperms and Angiosperms

()  Polarization of light

22. An object is kept at infinity from the position
of a concave (spherical) mirror. Which one is
not true about the image of the object ?

(a) Position of image is at the focus of the

17. Which of the following organelle(s) in an mirror
animal cell would have DNA and RNA ? (b) Size of i image is the same as that of the
(a) Nucleus only . object
(b). Nucleus and mitochondria only (c)  Image is real
(¢)  Nucleus, mitochondria and nbosomes (d) TImage is inverted

(d)  Mitochondria only . :
23. An electric refrigerator rated 400 W operates

18. During photosynthesis, O, of the atmosphere 10 hours/day. What is the cost of the energy to
is fixed with the help of H,0 and sunlight to operate it for 30 days at ¥ 3-00 per kWh ?
synthesize carbohydrate and O, is evolved by (a) T 360
the splitting of ®) % 3.600

) CO ’
> o @ co

2 @ ¥ 400
() NOjz , .
_ 24. The transfer of thermal energy carries which
(d) PO, ,
of the following phenomena ?
. 19.  Which one of the following nutrients. is not (a)  Conduction and convection only

available in fertilizers ? : (b) Only conduction
(@) Iron (¢)  Conduction, convection and radiation

(b) Nitrogen
(¢)  Phosphorus
(d) Potassium 25. In an atomic gas, the motion of particles
(atoms) is governed by the collisions. If the gas
is ionized, then the motion of created particles
rriay be mainly governed by

(d) Only radiation

20. Tigers have a shorter small intestine
compared to cows. The length of the small

intestine differs in various animals depending L
(a) gravitational force.

on the - )

(a) availability of water in their habitat. (b) collisions.

(b)  size of their mouth cavity. (c)  scattering of particles. )
(¢)  kind of habitats where they live. (d) electromagnetic force between the
(d) kind of food they eat. : particles.

DFRT-A-JSN (7-A)
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_26. Gases can be liquefied by - 31. Along with Cartosat-3, 13 commercial

(a)  reducing pressure and temperature. nanosatellites were also launched by ISRO in
(b) . applying pressure and reducing November, 2019. These 13 commercial
temperature. - , nanosatellites are from
(¢) reducing  pressure and - raising (a) Russia ’
temperature. ‘ b o :
(d) applying pressure and raising (®)  Canada
temperature. (c) USA
27. An element has an atomic number of 16. What (d) -Japan
is the principal quantum number (n) of its o ' ‘
outermost electrons ? : 32, The ﬁrst.ever floodlit test cricket match was"
@ 1 played between
® 2 \ (a) Australia and New Zealand.
(c) 38 : ; (b) India and Bangladesh.
d 4 ! " (¢)  Australia and England.
28. How many moles. of water would be produced (d) England and New Zealand.

by the complete combustion of one mole of

0 .
natural gas, CH,, in excess ofoxygen 33. Which one of the following was the main

@ 1 . theme of Defcom India 2019 ?
® 2 (a) Information and Communication .
(c) 3 Technology for improved communication
@ 4 ‘ ‘ support to forward edges of tactical
29. Manganese is extracted from Manganese battle area
dioxide by reaction with Aluminium as (b) Communication as a decisive catalyst for
“described by - the following unbalanced Jointness

chemical equation : . : (c) - Digital army infrastructure and skilled

human resource

MnO; (s) + Al ® > Mn (@) + Al,05 (s) (d)  Technology as a key enabler to overcome

The number of moles of Al (s) required to form . military challenges
one mole of Mn from its oxide is o
(a) 1 34. Which of the followipg statements about
®) 075 ‘Milan 2020’ is/are correct ?
() 1-33 C o ‘1. This is an international naval exercise.
@ 2 . ‘ 2. The first edition of the exercise was held

in 1995. '

30. Which one of the following aqueous ‘solutions n
will be neutral ? Select the correct answer using the code given
: below :

(a) NH,Cl1 @ 1only
(b) NaCl ' (b) 2only
(0 KCN (0 Bothland2 :
@  NaHSO, ' (d) Neither 1 nor 2 '

DFRT-A-JSN (9-A)
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35. Guru Ghasidas National Park is situated in
(a) Uttar Pradesh
(b) Madhya Pradesh
(©) Chhattisgarh
(d) Jharkhand

36. According to the 2019 Global Diplomacy Index
released by Sydney-based Lowy Institute,
Whlch country has the maximum dlplomatlc
posts across the world ?
(a) USA
(b) China
(¢) France
(d) Japan

37. ' In November 2019, authorised capital of
which one of the following public sector
units was increased from T 3,500 crore to
T 10,000 crore ? '
(a) Oil and Natural Gas Corporation
(b) Numaligarh Refinery Limited
() National Thermal Power Corporation

Limited

(d) Food Corporation of India

8. ‘W Tu: FwRgw’ (Ma  Gridhah
Kasyasvidhanam) is the motto of
(a) Lokpal
(b)  Election Commission of India
(c) Central Electricity Regulatory

Commission

(d) Central Information Commission

89. Manu Bhaker excels in which one of the
following sports ?
(a) Badminton
(b) Lawn Tennis
(¢ Shooting
(d) . Archery

DFRT-A-JSN

40.

41.

42.

43.

| 44.

45.

(11-A)

)

Recently, thousands of birds were killed in the
shoreline of which one of the following lakes of
India by the infection of avian botuhsm a
deadly neuro-muscular illness ?

(a) Haflong lake, Assam

(b)  Sukhna lake, Chandigarh

(0 Badkhal lake, Haryana

(d) Sambhar lake, Rajasthan

Of the following visitors, who compared
medieval Vijayanagara with Rome ?

(a) Nicold de Conti

(b)  Afanasy Nikitin

()  Domingo Paes
(d) Fernao Nuniz

The term pahi-kashta refers to which one of
the following ?

(@) Resident cultivators

(b) Landless cultivators

(¢) Non-resident cuitivators; )

(d) Peasants with more than 5 acres of land

During the reign of the Mughal Emperor
Akbar, which one of the following practices
was introduced in the daily routine of the

king ?

(a) Kornish

(b)  Jharokha Darshan
(¢) Zaminbos

(d) Sijda

During the Mughal period, the word wakil
referred to

(a)
(b)

(c) agehts of nobles and regional rulers.

lawyers in the Imperial Court.
lawyers in a Civil Court.

None of the above

Seg;di Ali Reis was a Turkish traveller to India
in the

(a) 18t Century.
(b) 14 Century.
(¢ 13t Century.
@ 16 Century.
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Who among the following in 1856 has taken

46.
the first detailed photographs of the
archaeological remains at Hampi ?
(a) Colin Mackenzie
(b)  Alexander Greenlaw
| (¢) .John Marshall
(d) J.F. Fleet
47. The Vijayanagara Kings ruled in the name of
which of the following Gods ?
(a) Rama
(b)  Vishnu
(¢) - Vithoba
(d)  Virupaksha
48. Muhammad | Husayn of ° Kashmir
(1575 -1605), a contemporary of Emperor
Akbar, was a
- (a) reputed Mansabdar.
. (b) painter.at Court.
(c)  Mughal General.
(d)  reputed calligrapher.
49. During the Mughal period, the term milkiyat
denoted which one of the following ?
(a) Jagirs held by J agirdars
(b)  Ijaras held by Ijaradars
(c) Pérsonal»lands of Zamindars
(d)  Personal property of Mansabdars
50. During the revolt of 1857, who mobilised the
headmen of Eighty Four Villages (chaurasee
des) ? ' :
(a) Maulvi Ahmadullah Shah
(b) ShahMal
(¢) . Nana Sahib
(d) Rao Tula Ram
DFRT-A-JSN

51.

52.

53.

54.

55.

(13-A)

Who wrote the book of travels called Rikla ?
(a) Ibn Battuta A

(b) Al-Biruni

(c)  Shaikh Ali Hazin

(d) Abdur Razzaq

Which traveller described the postal system
prevalent in India in the medieval period in
detail ?

(a) Abdur Razzaq
(b) Ibn Battuta

(c) Pelsaert

(d) Bernier

Who amongr the following was popularly called
Danka Shah in the years 1856 — 57 ?

(@ Shah Mal

(b) Ahmadullah Shah
(¢ ZahirDehlvi
(d) Ghulam Hussain

Who serialized the autobiography called Amar
Katha between 1910 and 1931 ?

" (a) Binodini Das

()  Girish Chandra Ghosh
(¢)  Rabindranath Tagore
(d) - M.G.Ranade

On whose advice did Gandhiji spend a year
travelling around India in 1915 - 16 ?

. (a) Bal Gangadhar Tilak

(b) Lala Lajpat Rai
(e) G.K. Gokhale
(d) B.C.Pal
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56. The East-West Corridor National' Highway |61. The Trans-Siberian Railway runs from
connects which of the following ?

(a) Silchar to Porbandar

(b)  Jorhat to Jaisalmer
(¢) Agartala to Ahmedabad - (o)  St. Petersburg to Vladivostok..

(a) Moscow to Vladivostok.

(b)  St. Petersburg to Moscow.

(d) Itanagar to Mapusa ’ (d) ~ Moscow to Sochi.

" 57. The railway network in India is divided into

(@) 8zomes. : o 62. Where is the headquarters of the ASEAN
(b) .10 zones. _ . (Association of South East Asian Nations)
(¢) 17 zones. o located ? ‘ ‘
(d) 20 zones. : (a) Dhaka
L ’ . o (b) Bangkok
58. Which one of the following cities has been _
recognised ‘as the Regional Tsunami Service (¢) - Kuala Lumpur
Provider (RTSP) for the Indiap Ocean region. ) Jakarta

by UNESCO ?
(a)  Kolkata

(b)  Hyderabad 63. Which one of the following megacities has the

()  Chennai . : highest population ?
(d) Visakhapatnam ‘

(a) Delhi -
59. | In India, the largest reserve of Bauxite is (b)  Tokyo
found in ' () Canton
(a) Andhra Pradesh @ Seoul
(b) Gujarat
()  Jharkhand o
@  Odisha | ' 64. Viticulture is a type of cultivation, largely a

' speciality of
. 60.  The river Volga merges into the

(a) Black Sea

(b) = Mediterranean Sea

(a) Tropical areas.
(b) - Mediterranean region,

(é) Caspian Sea 7 (¢) Sub-tropical areas.

(d)  Baltic Sea ' (d) Semi-arid areas.

© DFRT-A-JSN - (15-A)
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65. Which among the following is a west flowing
river ? '
(a) Teesta
(b) Tapti
(¢) Subarnarekha
(d) Betwa
66. Persons belonging to the third geﬁder category
cannot be discriminated against by the State
and its institutions. Which Articles of the
Constitution support this interpretation by the
Supreme Court ? - ‘
(a) Articles 14 and 19
(b) Articles 16 and 21
(cj Articles 14 and 21
(d) Articles 19 and 32
67. Which one of the following is a correct
description of the Indian Federal System ?
(a)  Dual citizenship
- (b) States have equal representation in the
Council of States
(¢) Persons belonging to the all-India
services can be dismissed or removed by
the States
(d) Unlike in the USA there is no dual
system of courts

DFRT-A-JSN

69.

(17-A)

68. - Which of the following is an incorrect

procedure to impeach a Judge of the Supreme
Court ?

(a) A motion addressed to the President
signed by at least 100 members of the
Lok Sabha or 50 members of the Rajya
Sabha is dehvered to the Speaker or the
Chalrman ‘

(b) The motion is to be taken up for
investigation by a Committee
comprising 2 Judges of the Supreme

Court and a distinguished jurist.

(¢) - The motion is put to vote irrespective of
the outcome of the Committee’s Report.

(d) . The motion needs to be passed by each
of the total

House and

House by majority

. membership of * that
two-thirds of the members present and

voting.

Arrange the following chronologically :
1. 44'® Amendment Act

2. Minerva Mills Case

3. Amendnient to Preamble

4.  Kesavananda Bharati Case

Select the correct answer usmg the code given

below :

(a) 4-3-1-2
(b) 4-3-2-1
() 3-4-1-2
(d 2431
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70. Which one of the following does not describe

. 73.
the procedure or substance of the amendments

to the Indian Constitution ?

(a) The Bill to amend the Constitutioh has
to be laid in any House of the Union

Parliament.

(b) The basic features of the Constitution

cannot be amended.

In the event of a deadlock between the
two Houses of the Parliament, there is
no provision for a joint session. '

(c)

(d) The President cannot veto a Bill for the

amendment of the Constitution.
' 74.

71. Which of the following best describes a remedy

where a person can be commanded to perform
some public duty which s/he has refused to
perform ?

(a)
(b)
(c)
(d)

Mandamus
Prohibition
Certiorari

Quo Warranto

Which one of the following is not a duty of the
Comptroller and Auditor General of India ?

(a)

72.

To audit and report on all expenditure
from the Consolidated Fund of India of|-
each State and Union Territory that has | 75.
a Legislative Assembly

(b) To audit and report on all expenditure
from the Contingency Funds and Public

Accounts of the Union and the States

To audit and report on all trading,
manufacturing, and profit and loss
accounts kept by any Department and/or
private enterprises

(c)

To audit and report on the receipts and
expenditure of all bodies and authorities
substantially financed from the Union or
State revenues

(d)

‘DFRT-A-JSN

(19-A)

(@

©

Which of the following Commissions was set

up to recommend changes in the Centre-State
relations ?

(a) Verma Commission
b) U.C. Banerjee Commission
Kothari Commission

@

Sarkaria Commission

Which one of the following is not a

- Fundamental Duty of the Indian citizens ?

(a) To respect the National flag and the

National anthem

(b) - To defend the country

To safeguard all property

(d) To provide opportunities for education to
one’s own child between the age of six

and fourteen years '

Which one of the following aims at correcting
regional imbalances in the availability of
affordable and reliable healthcare services by

augmenting medical education ?

(a) Pradhan Mantri Swasthya Suraksha

" Yoj an-a/
(b) . Swachh Swasth Sarvatra
(¢) Ayushman Bharat
(d) Rashtriya Arogya Nidhi
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76. What is the minimum number of escort(s) | 80.
required for a dangerous prisoner on board an
aeroplane ?

(a) 4
b 3
@ 2
@ 1
81.

77. Which one of the followmg is not part of|

DFMD ?

(a) Electronic Unit-

(b) . Lead Curtain

(c)  Remote Control Unit

(d) Cross Piece ' : 82,

78. Which one of the following substances does

not belong to class ‘B’ fire ?
(a) Molten Sulphur
(b)  Alcohol
- 83.
(¢) Solvent
(d) Paint
79. A screener should not be doing screening for
more than :
(a) 10 minutes
(b) 15 minutes
(¢ 20 minutes
(d) 25 minutes
DFRT-A-JSN (21-A)

PART -B
PROFESSIONAL SKILLS

(¢)  Collection of

Which one of the following should be the
minimum distance between two items going
through the X-BIS ?

(a) 20cm
(b) 30cm
(©) 60cm
(d 40cm

Which one of the following is not necessary for
the ROP to be successful ?

(a) Maintaining full confidentiality
(b) Full strength should be there
() Good knowledge of area

(d) Can move once the convoy starts moving

What does TNT stand for ?
(a)  Tri Nitro Toluene

(b)  Tri Nitro Tartum

(c)  Tetra Nitro Toluene

(d) Thallium Nitrate Tetryl

Broadly speaking, the role and responsibility
of CISF deployed at an industrial undertaking
would consist of which of the following ?

(a) Protection of vital installations of the
undertaking against attacks, _ sabotage
or other types of damage

(b) Prevention of crime agamst property of

the undertaking
criminal intelligence
regarding  activities of criminals
indulging in crime against property of
the undertaking

(d) All of the above
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What is the prescribed height of the aii‘port
perimeter wall ?

84. In which year was CISF declared as an Armed 88.
Force of the Union ? :

(a) 1969 '
: (@ 10ft of wall with concertina coil
(b) 1973 overhang of 2 ft
() 1983 ‘ (b) 8 ft of wall with concertina coil overhang
(d 1990 of 1 1 ft
, 2

() 95 ft of wall without any concertina coil
85. Who among the following was appointed the

(d) - 10 ft of wall or fence
first Director General of the CISF ? ’

(a) Shri P.S. Bhinder
89. The perimeter lighting at the airports should

() Shri Surendranath be provided on the
(c)  Shri AF. Rustomjee (a) inner side of the airport along the
(d  Shri Trinath Mishra »_ perimeter road and focusing towards the

perimeter fencing/wall.

: :  (b) top of the peﬁfneter wall focusing
86. Findings of which one of the following Judicial outside the perimeter.

Commissions paved the way for creation of the

CISF ? | . - (¢) ' top of the perimeter road and focusing

- inside the perimeter.

(a) B. Mukherjee Commission
(d)  top of the watch-towers focusing outside -

(b)  Shah Commission of Enquiry the perimeter wall.

(¢) Nanavati Commission

(d) Sarkaria Commission ) . 90. A highly sophisticated Multi-Zone DFMD is
capable of detecting

(a) metallic items above a set fhreshold
87. What should be the average lux level of the

perimeter lighting at the airports ?

level.

(b)  metallic as well as non-metallic items.

{(a) 35lux

(¢) metallic items, non-metallic items, as
(b)  5-5lux : - well as conventional explosives.
(¢)  More fhank6 lux : (d) metallic items, non-metallic items, as
(d  The perimeter should not be lit af all well as all explosives including plastic

and liquid explosives.

DFRT-A-JSN (23-A)
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91.

A non-linear Junction detector is capable of
detecting

(a)  devices containing semi-conductors.
(b) conventional explosives.
()  plastic and liquid explosives.
(d) All of the above
92. - According to the prescribed sbpeciﬁcations,‘the
NLJD should be capable of detecting ABCD
circuit buried under dry soil up to a depth of
at least ‘
(a) 12 inches
(b) 18 inches
(¢) 24 inches -
(d) . 36 inches
93. ‘A Mini Remotely Operated Vehicle (MROV)
should be capable of conductlng EOD and
" surveillance inside
1. aircrafts.
2. passenger terminal buildings.
3. buildings and terminals.
Select the correct answer using the code given
below :
(a) 1and2only
(b) 2 and 3 only
“(c) 1and 3 only
(d 1,2and3
94. What are MANPADS (Man-Portable
Air-Defense Systems) ?
| (a)  Surface to Air Missiles
(b) Airto Air Missiles
(c)  Portable Drones
(d) None of the above
DFRT-A-JSN

95.

96.

97.

98.

(25-A)

What unique feature of the CISF sets it apart
from other CAPF's ?

(a)

(b)
- dedicated intelligence wing.

It is the only armed force of the Union.

It is the only force to have its own

(c) Tt is the only force whose personnel are

deployed to deal with disaster
management.

(d) Itisthe only"co'st reimbursement force.

What does LAGs stand for ?

(@) Liquids, Aerosols and Gels

(b) Liquor, Alcohol and Glycerine
substances

(é) Detonating equipment fitted with delay
mechanism

(d) None of the above

All the airports in the country are classified as

Normal, Sensitive and Hypersensitive

airports. Which one of the following is not a
hypersensitive airport of India ?

(a)
(b)
(¢) Chandigarh airport
(d)

Pune airport

Jaipur airport

Chennai airport

What is the prescribed duration of storage of
CCTV recording at the airports ?

" (a) . 08days
(b 07 days
(¢) 15days
(d 30days
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99.. The BCAS has mandated installation of body
scanners at the airports. What is/are the
technology/technologies prescribed . for it by
the regulator ? -

1. Back Scatter Technology using ionizing
radiation.

2. Millimeter-wave (MMW) Technology
using  non-ionizing electromagnetic
radiation.

Select the correct answer usmg the code given

below :

(a) 1only

(b) 2only

() Both1land2

(d) Neither 1 nor- 2

100. Which one of the following is the prescnbed
guideline for conducting pre-embarkatlon
security check of a passenger with prosthetics
such as an artificial limb etc. ?

(a) On compassionate grounds  the
passenger is exempted from screening.

(b) Such a passenger ‘is- only screened
during “High Alert” periods. '

(¢) The screener in consultation with his
supervisor may take a decision to screen
or-not, on case to case basis.

(d) Such passengers are not exempted and

- will be subject to normal screening.

101. Pat-Down Search is carried out by the
screener based on his subJectlve satisfaction.

~ What are the prescribed norms regarding the
number of passengers ‘to be subjected to

-Pat-Down Search on a. continuous random

basis ? v

(@)  01inevery 03 passengers

(b) . 01in every 05 passengers

(). 01in every 10 passengers

(d) 01 in every 20 passengers

DFRT-A—JSN

102. The

103.

104.

105.

(27~A)

(b)

In-line Hold Baggage | System is
prescribed to have a minimum throughput of
(a) 450 bags
(b) 800 bags
(©) 1200 bags
@) 1500 bags

The CISF was first inducted for aviation

security duties at
(a)  Delhi airport.
" Mumbai airport.

‘(c) Jaipur airport.

(d) Guwahati airport.

To which country was the first contingent of
the CISF on a UN mission sent ?

(a) Mozambique
.(b) Cambodia

(e) . Kosovo
(d) Bosnia

In which year wés the mandé.te of the CISF

broadened to provide security to private sector
establishments ?

(a) 1983
(b) 1996
(¢) 2000
(d 2009
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106.

107.

108.
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(a)  One bag out of every two bags

What is the preécribed average norm for
random selection of hand search of cabin

baggage during pre -embarkation secunty
check ?

(b)  One bag out of every five bags -
(¢)  One bag out of every ten bags

(d)  One bag out of every twenty-five bags -

The CCTV systems at the alrports are
installed to ensure

1. effective surveillance of the area.

2. a
post-event analysis.

tamper-proof record, for any

3. live and recorded images.

Select the correct answer using the code given
below :

(a) 1lonly
(b) 1and 3 only
(¢ 2and 3only

(d 1,2and3

Which one of the follovlring BDDS equipments
is a protection equipment ?

(a) Suspect Luggage Containment Vehicle
(SLCV)

(b) Stethoscope

(c) Hook and Line Set

o Explosive Vapour Detector

110.

111.

112,

(29-A)

109. What is the prescribed minimum explosive

capacity of a Suspect Luggage Contamment
Vehicle (SLCV) deployed at the airport ?

(a) 1kg TNT (single use)
(b)  2kg TNT (single use)
(¢) 38 kg TNT (single use)
(d)° 3 kg TNT (multiple use)

Every warrant of arrest issued by a court
under the Code of Criminal Procedure, 1973
shall remain in force

(a) until it is executed.
(b) until it is cancelled by any court.
(c) for a period of one month.

(d) fora maximum period of 3 months from
the date of its issue.

Which one of the following is not correct ?

Under the Code of Criminal Procedure, no
person who has beén arrested by a pollce

officer shall be discharged except

(a)  on his own bond. ‘
(b)  under the special orders of a magistrate.
(¢) on bail.

(d upon the completion of trial.

Which of the following has the power to pass
orders prohibiting any person from repeating
or continuing a public nuisance ?

(a) A District Magistrate

(b) Any Executive Magist;ate empowered
by the State Government or the District
Magistrate in this behalf

(¢) A Sub-Divisional Magistrate
(d)  All of the above
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113. Refusal to answer questions asked by a public
servant in exercise of his legal powers, by a
person legally bound to state the truth on that
particular subject is

(a)  not a punishable ‘offence.
(b) punishable with maximum one month of
imprisonment,
(c) Punishable with imprisonment for g2 ,
term extending up to three months,
(d)  punishable with j 1mpnsonment up to six
_ months

114. Under Section 354A of the IPC 1860, who can

be a victim of the crime of sexual harassment ?
- (@)  Only a woman

(b) Only aman

(¢)  Both men as well ag women

(d) Only transgenders

1,15.,' ‘A’ sues ‘B’ for a libel 1mput1ng dlsgraceful
conduct to ‘A’, ‘B’ affirms that the matter
alleged to be libelous is true. Which one of the
following is not a relevant fact ?

(a) Position of parties at the time when the'
libel was published

(b)  The relations of the parties at the time
when the libel was publishe_d

(¢)  Particulars of some dispute between A
and B about a matter unconnected w1th
the libel

(d) Facts of some dispute between A and B
which affected relations between them

DFRT-A-JSN (31

116.

Which one of the following with regards to

. offence of theft is correct ?

117,

(a)  Theft is always an offence against
ownership.

(b)  Dishonest intention is the gist of offence
of theft.

(c) Theft may or may not include mov1ng of

property in order to take the property
away.,

(d) " Theft may be of movable as well as

immovable properties,

‘A’, a carrier, is entrusted by ‘2’ with property
to be carried by land or by water. ‘A’
dishonestly mlsapproprlates the property.
Which one of the following oﬂ'ences was
committed by ‘A’ ?

(a) Criminal breach of trust

~(b) Dishonest misappropriation of property
(¢)  Mischief
(d) Theft

118,

_A)

What is the penalty prescribed under the

 Industrial Disputes Act, 1947 for a person who

commits any unfair labour practices ?

(a) Imprisonment up to 2 months or ﬁne up
to ¥ 1,000 or both
(b)  Imprisonment up to 3 months or fine up

to ¥ 1,000 or both

(0

Imprisonment up to 6 months or fine up
to ¥ 1,000 or both

(d)

Imprisonment up to 1 year or fine up to
¥ 1,000 or both
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119,

120.

(d)

According to the Industrial Disputes Act, 1947
which one of the following is a condition
Precedent to retrelichment of a workman
employed in any industry for not less than one
year ? ‘

Three months’ notice in writing

(a)

(b)  One month’s notice in miting

(©)  Wages equivalent. to minimum three
months’ average pay for every year of

completed service to be paid

Wages equivalent to minimum one
month’s average pay for every year of
completed service to be paid

Which one of the folloWing is a bcondltlon

precedent for appointment as the presiding

officer of a labour court under Section 7 of the
Industrial Disputes Act, 1947 ?

(a) Holding judicial office in India for a

minimum of 15 years

(b) - -Having minimum experience of 5 years
-as a District Judge or Additional District

Judge

() Minimium 20 years of experience as
presiding officer of a labour court

constituted under any State Act

Minimum 3 years of experience as an

(d)
officer of the Indian Judicial Service in
Grade III
DFRT-A-JSN (33

121,

Under the Employees’ Provident Funds and
M1scellaneous Prowsmns Act, the Central

~ Government may authonze an employee. to

(a)

122,

-A)

(a)

(D

maintain a Provident Fund Account in
relation to . the -establishment, upon an
application made by the employer and
majority of such establishment’s employees
provided that the number of persons employed
in that establishment i 1 not less than

20
(b)
(0
@

50
100

200

The Employees’ Provident Funds and
Miscellaneous Provisions Act does not apply
to

any establishment registered under the
Act, 1912
employing less than 50 persons . and

Co-operative  Societies

working without the aid of power.

any establishment which is a factory
engaged in any industry as specified
under the Act in which minimum of 20

(b)

persons are employed.

any other establishment employing
minimum of 20 persons as specified by
the Central Government.

(9]

all such- establishments employmg less
than 20 persons, as specified by a
notification in the Official Gazette by
 the Central Government after a
minimum of 2 months prior notice.
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123,

124,

< 1285,

126,

The Workmen’s Compensation Act has been
amended and renamed as

‘(@) The Workers’ Compe_nsation Act

(b) The Employees’ Compensation Act
(¢)  The Labour Compensation Act
(d) The Apprentices Act

Under the Dowry Prohibition Act, 1961, any
agreement for giving or taking dowry shall be

(@)  voidable at the behest of the bride,
®)  void. '

(¢} wvalid only to the extent that it is
beneficial to the bride.

(d)  valid only if executed within 3 monthg of
the marriage.

Which one of the following is not punishable
under the Commission of Sati (Prevention)
Act, 1987 ?

(a)  Abetment of Sati

(b)  Commission of-Sati

(c) Attempt to commit Sati
(d)  Glorification of Satj

For the purpose of the Immoral Traffic
(Prevention) Act, 1956, a ‘child’ means a
person who has not completed the age of

(@ 14 years
(b) 16 years
(c) 18 years.
(d) 21years
DFRT-A-JSN

127. Uﬁder the

Scheduled Castes and the

Scheduled Tribes (Prevention of Atrocities)

Act, 1989, which one of the following is not

permitted ?

(a)  Anticipatory Ba/il

(b)  Registration of FIR without preliminary
enquiry -

- (¢)  Arrest of an accused by the

Investigating Officer without prior
approval '

(d) Bail

The National Human Rights Commission

conducts inquiries into incidents where

human rights have b(_aen violated. Such

inquiry shall be initiated by the Commission

(a) only upon a petition presented to itby a
victim.

(b) only when it is directed to do so by a
Court,

(c)  suo motu or on a petition by the victim
Or any person on the victim’s behalf or

on a direction or order of any Court.

(d only when such complaint is forwarded
by the concerned SHO, '

. Under the Protection of Human Rights Act,

1993, the term ‘Human Rights’ has been
defined as

(a)  basic rights to food, shelter and clothing.
(b)  inalienable rights of a human being.

() the rights relating to life, liberty,
equality and dignity of the individual
guaranteed by the Constitution of India.

(d) the rights ensuring liberty, equality,
fraternity and state sovereignty.

(35-A)
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s
(a)
()
()

@

132, FrefaRea 3§ @ RmA fre REmE (o) @

- |135. 3= 3 (Exclusive-OR) fpomardl dfsFn

Gy

@ 1,234
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133.w‘|—ssranmﬁmcﬁmé@1ﬁtrﬁaﬁa

134, AT ASCII Freuw % amat 8, T S
sjEenail 23, Al, 1A, a2, 2a, aA 3T Aa 1 BTR

e | | 0T ?

(a) 1A<23<2é<A1<Aa<a2<aA
(b) Al<Aa<aA<a2<2a<23<1A
© 23<2a<lA<a2<aA<Aa<Al

fra T Prefa fpe 1 w1 ® ?
(@) A.B+A.B
® A.B+A.B
© A.B+A.B

|
428
424 x
408

420

1A<aA<Aa<A1<a2<2a<23

- A +B.A+B)



130. ‘A’ voluntarily throws into a river, a ring|ygg. Convert 1AC in hexadecimal into a decimal

belonging to “Z’ with the intention of thereby

number. .
causing wrongful loss to ‘Z’. ‘A’ has committed '
: ' (a) 428
(a) theft.
(b) mischief. (b) 424
(¢) criminal breach of trust. ‘ () 408
@ - chéating. d 420

131. Find the decimal equivalent of the bihary ’
number 110.101. ; '

134. In case of ASCII representation of characters,

(@) 6.5 ,
: in which order will a computer sort the strings
®) 6625 . 23,A1,1A, 2, 23, 24 and Aa ?
6.5 :
© . (a) . 1A<23<2a<Al<Aa<a2<aA
(d  6.25

(b) Al<Aa<aA<a2<2a<23<1A

. . ) ) D () 23<2a<lA<a2<aA<Aa<Al
132. Which of the following is/are bit manipulation _

operators ? - (d) 1A<aA<Aa<Al<a2<2a<23
'

2. A

3. >>

4 << 135. Exclusive-OR binary operation can be

: represented as
Select the correct answer using the code given '

.B

|

below : . N, . (a) .B+A
; (@ 1only ' ® A.B+A.B
(b) - 1,2and3 , (& A.B+A.B

Q) 2and 4 only d (A +B) ;(A +B)

(d . 1,2and 4

DFRT-A-JSN - . ' (37-A)




136. TrE st e H, va wieew @% o)

137.

138.

@

(0

| gATEER Bl ] ?

(a)
b)
(c)
@

e foen (A o)

st foe (iR foeh)

ATt feee

g

Fht os1 wa, TCPAP Ae@ w R
T 8 ?

STTERT W

EiER =N

Jeash @

wWifass wR (TA)

(a)
b)

(d)

F(A, B,C) = (A + B) (B + C) %I 471 &4 (WH
wi) % ffe Tres (FRwa New)
wfafda i |

(a) (X+‘§+C)(X+]_3+6)(A+§+C)

® @A+B+C)@A +B+C) A +B+0)
© A+B+0OA+B+C)A+B+0

A+B+ C) (X+l_3+6)l(A+§ +C)

139, frafefgm wwet & & R W,
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FFgeah ($B) 7 2
(a) BEH

(b) UTERA

(c) UIRET

C++

(d

140.

141.

142.

(©

- (b)

i § @ S T, TRy TRl de
(ex T wide) TET 22

(a) CGM
(b) PNG
(© SVG
(G)] ’ SWF

N B X

“aegd At (fwa)” e ad }

(a)
(b)

CISF gRI Jsd AT ot STfera |

CISF grr Efeit 6t el | |

CISF g G9/ 7T W q°q1 31 SR
AT |

@ CISF ¥ fredt weer 1 frgart a1 widy
' (ERHR‘I)IV : '
frerffiga § @ SF-91 T w9 T 787 22
‘@éﬁﬁﬁéﬁﬁaﬂiﬁﬁmm”mwf@
Y Neifr swEn B, R @i, e
1 yauA foRan Sar @

(@) e AfufEm § g ufonfia © wEl
HE % g |

el =it st % g 36 oA
zofia v fm, S wer g fafRa A,
E XA : :

S OERY (AW SFGT) % E@eE AT
weed! gy Toifid U R, FER L
et T afufEm & g @ SEd IR
i u frm, S w@R g FafEa |,
CH g |

(©

@

(38—A)




186. On which storage device is track ‘Pattern | 140. Which one of the following is not a vector

spiral ? . ~image format ?
(a) Magnetic disk - @ CcGM
(®  Optical disk | ® PNG
(¢)  Floppy disk - - . () SVG

(d)° Pendrive : ‘ . (d SwWF

141. Which one of the follovﬁng statements is
correct ?
137. Which OSI layer is not part of TCP/IP model ?

The term “Force Custody” means
(a) Apphcatlon layer

(a) custody of conﬁscated goods by the

(b) Session layer CISF.

()  Network layer o : . (b)  arrest of suspects by the CISF.

(d) Physical layer ' ' o (¢)  building and other infrastructure held
‘ ' ' by the CISF. '

' - (d). arrest or confinement of a member of the
138. Convert F(A, B, C) = (A + B) (B + C) into CISF.

canonical Product of Sum form.

@ @A+B+ ) A +B+0)A+B+ C)ﬁ 142. Which one of the following statements is not
correct ? :

(b) (A+B+C)(A +B+C) A +B +0) o . .
’ _“Industnal Undertaklng in Public Sector”

() (A+B +0) A+B+C)(A+B +.0) means an industrial undertaking owned,
_ S - - = -~ controlled or managed by
d A+B+C)A+B+C)A+B+0C) ’
: (a) a government company as deﬁned in the
Companies Act.

(b) a corporation established by or under a

139. Which one of the followmg languages is
Central Act which is controlled by the

interpreter ?

A Government.
(a) FORTRAN _ _

, ‘ . (¢ 'a company set up by a member or
(b) Pascal - ' members of the general public.
(¢) Python | : ’ » (d) a corporation set up by or under a State
@ Cit Act which is controlled by the

Government. '
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DFRT-A-JSN

143, FrofRes § & FE o TR 2

(@) mw%fﬁwﬁﬁmaﬁﬁmﬁmaﬁa
aaﬁ;sﬁmaﬁawsﬁéﬁwaﬁ%mw
kA

b) TE wEEOES ¥ qEmEh GRS e
¥ gyarq qaRmEl ot S wd € |

@ fen B wre % qenwEt w0 ® |

e i TE R

@ TR g 6 sufefd 4, CISF o+ fopedt
%ﬁmmﬁmm%wﬁmﬁﬁm
o T |

a4, Froffen & 3 A S w@ 2 2

e oiifE g wa o, 1968 ¥
mﬁt%a%ﬂqCISF%ﬁssﬁwﬂmgmaﬁé
ﬁmﬁ!ﬁﬁﬁqaﬁm '

(a mmﬁwmﬁ%mﬁmwﬁs

. sriran 10 R @ % foag g w@n
1 HHAT 8 |

b B F R A, 39 At F Aferewaw
7483@%@%@31%% |

" (0 CISthﬁm@ﬁ%m,mwﬁs
W g@ & hafs IwE F g
amlﬁaaggém(ﬁtﬁw)m|

@) :mwﬁﬁaﬁﬁmmmﬁaﬁas'

gftra SRR % FETe T |
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145. ﬁmﬁ%ﬂﬁﬁﬁqmw@%?

() CISF &1 1§ eea fFraneq 6 sty &
A 3 il & o B, R
el g B, AR 98 S W R |

(b ﬁamasam%eﬁsa%aﬁmsy‘ﬁ

mm@mamém% |

(c) 9 F$ ARk CISF &1 Th Amifhd de
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oo areafia e s T R |

(d) 39 #1§ ARk CISF &1 Th Wik dee
78t & wraT 99 38 feu wy wwn (foe)
® 39% gU g I (Irafia wW) Al
STravIeRdl T8 Bt § |

146. 5 el w1 fa=wo, TS Y Srfermian

@ 9@ T g AU R g
R S wwaT B, aﬁfaﬁaqﬁwﬁﬁﬂaﬁ
aﬁwﬁm%%ﬂmmmmww
fEa =X | _

ﬁmﬁr@amﬁﬁﬁqmmwwﬁ :
7T ot 2 ? |
(a) mm%mwmm%ﬁ@@

(o) A A B
(b) aam,cxsr‘%qa;wﬁmmm%

9§, omUHt ¥ Hdedl § wAfUq T

2
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143.

Which one of the following statements is
correct ?
(@) No member of the CISF has any

144,

authority to carry out any search
without a warrant.

(B) Searches can be carried out after
obtaining a search warrant from the

Sector Inspector General.

() There is no blanket prohibition on
carrying out searches without a

warrant.

(d) . Searches can be carried out without a
warrant by any member of CISF in the

' presence of the local police.

Which one of the following statements is

correct ?

Any member of the CISF making an arrest

under the provisions of the Central Industrial

- Security Force Act, 1968

DFRT-A-JSN

(a) may detain the person up to a maximum
‘ of 10 days for the purpose of completing
the preliminary investigation.

(b)  may obtain the person for a maximum of
48 the = purpose of

interrogation.

"hours for

must immediately hand over the person
to the Security Officer of the industrial
undertaking being protected by the
CISF.

()

(d) shall hand over the person to a police

officer without unnecessary delay.

'145.

146.

(41-A)

(b)

(d)

Which one of the following statements 1s
correct ?

(@). During the period of suspension, a
member of the CISF continues to be
subjected to the same responsibilities to
which he would have been subject, if he

were on duty.

A person temporarily ceases to be a
member of the CISF dur1ng suspension.

(c) The certlﬁcate of appointment is not
required to be surrendered when a
person ceases to be an ‘enrolled’” member

of the CISF.,

- Clothing articles furnished to him need
not be surrendered when one ceases to
be an ‘enrolled’ member of the CISF.

Certain offences can be tried by an ordinary
Criminal Court having jurisdiction in the
matter, if the prescribed authority under
whose jurisdiction the offence was commltted
S0 requires.

Which of the followmg offences do not fall in
this category ?

(a)

Offences committed while the offender is
absent from duty

When the offence is not connected with
the offender’s duties as an enrolled
member of the CISF

(b)

When the offence is connected with the
offender’s duties as an enrolled member
of the CISF but is a petty offence

(o)

When the offence is of such a nature
that the Commandant invested with the
powers of the Magistrate to try the

@

offence considers it appropriate to recuse
himself/herself




147,

148.
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(e)

(d)
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| WY |
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147,

Which one of the following statements is
correct ?

The Director General may grant to an officer
of the CISF a higher rank than the one held by
him, as a local rank, whenever considered
necessary by him in the interest of better

. functioning of the CISF.

148.
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(a) Grant of such a local rank is not subject
to confirmation by the Central

Government;

(b) Local rank can be conferred by the
Director General up to and including the
rank of Senior Commandant/Assistant

Inspector General.

An officer of the CISF who has been
granted a local rank is not entitled to

(c)

any extra pay and -allowances for|

holding such a rank.
(d)

The power to grant a local rank can be
delegated by the Director General to the
Additional Director Geéneral, if

considered necessary.

Which one of the folldwing statements is not
correct ? '

(a)
shall work under the general
supervision, direction and control of the
Managing Director of the Undertaking.

The Unit Commander of the CISF shall
keep the Managing Director fully
informed of all developments including
the state of the CISF. :

(b

The Managing Director shall inspect the
posts of the CISF situated in his
Undertaking at least once a year.

©

(d) The Managing Director may require the
Unit Commander to report directly‘ to
his superiors in the CISF in regard to all

- matters mentioned above.

The CISF deputed to an Undertaking

149,

©(e)

150.

(43-A)

@

Which one of the following statements is
correct ?

The Assistant and Deputy
Commandants do not have the power to

suspend the enrolled members of the
CISF.

(a)

The Senior Commandants and
Commandants have the power to
dismiss enrolled members of the CISF
except the Inspectors.

(b)

Only the Seetor Inspector General/
Inspector General (Headquarters) has
the power to withhold promotion of the
enrolled members.

Removal of enrolled members from an
office of distinction or deprivation of
special emoluments can be ordered only
by the Director General and Additional
Director General.

Which one of the following does not fall within
the scope of technical consultancy services
provided by the CISF ? '

(a) Planning for defence against nuclear,
biological and chemical attack on the

Undertaking

(b)  Study of fire protection related problems

and suggesting appropriate measures

() Planning and designing of
communication network and preparation

of related operating instructions
(d)’ Preparation of disaster management
and contingency plan and supervision of

rehearsals of such plans




= e & fou s
SPACE FOR ROUGH WORK

DFRT-A-JSN (44-A)




w9 wW % e sg
SPACE FOR ROUGH WORK

DFRT-A-JSN o (45-A)




A wW & e TR
'SPACE FOR ROUGH WORK

(46-A)

DFRT-A-JSN




*= wW & fore g
~ SPACE FOR ROUGH WORK

DFRT-A-JSN

(47-A)




DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
T.B.C.: DFRT-A-JSN : Test Booklet Series

| TEST BOOKLET |
GENERAL ABILITY & INTELLIGENCE

AND PROFESSIONAL SKILLS

| Time Allowed : Two Hours and Thirty Minutes _ Maximum Marks : 300

INSTRUCTIONS ,

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET. :

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series A, B, C or D carefully and without any omission or discrepancy at the appropriate -
places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer Sheet liable for
rejection. K

3. You have to enter your Roll Number on the
Test Booklet in the Box provided alongside..
DO NOT write anything else on the Test Booklet. ‘

4. This Test Booklet contains 150 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the -
response which you consider the best. In any case, choose ONLY ONE response for each item.

5. You have to mark all your responses 'ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet. : . ~

6. Allitems carry equal marks.

7.  Before you proceed to mark in the AnSwer Sheet the response to various items in ‘the Pest Booklet,
- you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate. ‘ ‘

8.  After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

9.  Sheets for rough work are appended in the Test Booklet at the end.
10. There is no negative marking for wrong answers. '

11.  This Test‘Booklet consists of Two Parts. Part A deals with General Ability and Intelligence

and consists of 75 questions. Part B deals with Professional Skills and consists of 75 questions.
All 150 questions are to be answered.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

m%;@ﬁw%ﬁwwg@w%wmw%l

DFRT-A-JSN (48-A)




